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INSTRUCTIONS FOR CANDIDATES

It is mandatory to fill one option for each question.

All questions carry equal marks.

Only one answer is to be given for each question. If more than one answers
are marked, it would be treated as wrong answer.

The OMR Answer Sheet is inside this Question Booklet. When you are
directed to open the Question Booklet, take out the Answer Sheet and fill
in the particulars carefully with BLUE BALL POINT PEN only.

Please correctly fill your Roll Number in OMR Answer Sheet. Candidate
will themself be responsible for filling wrong Roll Number.

1/3 part of the mark(s) of each question will be deducted for each
WIOng answer. A wrong answer means an incorrect answer or more than
one answers for any question.

Each question has five options marked as 1, 2, 3, 4, 5. You have to
darken only one circle (bubble) indicating the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.

If you are not attempting a question, then you have to darken the
circle ‘5”. If none of the five circles is darkened, one third (1/3) part of
the marks of question shall be deducted. L

After solving the question paper, candidate must ascertain that he/she
has darkened one of the circles (bubbles) for each of the questions.
Extra time of 10 minutes beyond scheduled time is provided for this.

A candidate who has not darkened any of the five circles in more than
10% questions shall be disqualified.

. If there is any sort of ambiguity/mistake either of printing or factual

nature, then out of Hindi and English Version of the question, the English
Version will be treated as standard.

Mobile Phone or any other electronic gadget in the examination hall is
strictly prohibited. A candidate found with any of such objectionable
material with him/her will be strictly dealt as per rules.

Warning : If a candidate is found copying or if any unauthorized material is
found in his/her possession, F.LR. would be lodged against him/her in the
Police Station and he/she would liable to be prosecuted under Rajasthan
Public Examination (Measures for Prevention of Unfair means in
Recruitment) Act, 2022, other law applicable and Commission’s
Regulations. Commission may also debar him/her permanently from all future
examinations.
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1. Which of the following ruler had an important 1. FFfeRaq # ¥ 9 WS B WG & IS

role in the Battle of Bahadurpur?
(1) Mirza Raja Jai Singh

(2) Maharaja Jaswant Singh

(3) Maharana Karan Singh

(4) Maharana Raj Singh. -
(8) Question not attempted

fan

-~ -

- What are the main features of ‘Rammat’ folk

drama?

{i) Only people of a particular community
participate in it.

(ii) ‘Teriyas’ and, ‘Singers’ plays major role in

"~ this.

(iii) The characters siiting on the stage gives their
performance and then take their seats again.

(iv) Its language and regional flavour keeps it
-connected to-one particular region.

Select the correct answer -

(1) (i), (iii) and (iv): (2 (@) and (ii)

(3) (i), (ii) and (i) (@ (ii) and (iii)

(5) Question not attempted

- Which of the following is not a stringed musical
instrument?

(1). Bhapang (2) Bankiya

(3) Jantar (4) Kamayacha

(5) Question not aftempted

- Elaichi and Kamla were painters of which style
of paintings of Rajasthan?

(1) Kishangarh sub-style

(2) Alwar sub-style

(3) Nathdwara sub style

(4) Devgarh sub- style

) Question not attempted

- Match the following and select the correct
answer from the code given"belov‘v -

(Writer) (Writing)
(A) Kanha Vygsk (i) Dwardeepika

(B) Natha (ii) Eklinga Mahatmya
(C) Govind (iii) Kirtistambh Prashasti
(D) Atri and Mahesh (iv) Vastumanjari

Code - )

(1) .A-(i), B-(ii), C-(iii), D-(iv)

(2) A-(i), B-(iii), C-(iv), D-()

(3) A-(iii), B-(iv), C-(ii), D-(i)

(4) A-(ii), B-(iv), C-(i), D-(iii)

(5) Question not attempted

. W?ﬁ?ﬁma‘ﬂ

H wecaqul e Ai?
(1) st wor v R
(2) HERT wrdd Rig
(3) AR BT RiE
-(4) HERION IS Rig .

(8) SrpaRa weA
ﬁ?‘mﬁmw%“?
) %ﬁﬂ@ﬂﬂqm ﬁﬁiﬂ?'&-ﬁ?ﬂﬂﬂ@ﬂ?ﬁ%ﬁ

(ﬁ)qﬁ%‘%w IR TS @ wE A
|
(111)vmﬂw§%mmmﬁéﬁ%aﬁ?
T 10 IF IR o o0 §1
(1v)sﬂaﬁwaﬁ?&§é’lﬂwsﬁwaﬁﬁﬁﬂ
¥ Wie e 2

B ST P] I PG —
(1 Gi), i) AR Gv) (@) @) 3= (1)
(3) @), (i) 8% Gi)) (4 (ii) 3R (i)
(5) argaila 9o
- Ffafee § & @ierar o e I = 87

(1) 9T " (2) gifdan
(3) S (4) BHEET
(5) iR uee ‘
@R o7
(1) e Sudieh
(2) SrcTaR SURlell
(3) eI SWlel
(4) < Sudiel
(8} srgalRa we

5. frafaRed & Ao iR ik R R T
HE ¥ 9 W8 TR B TG PG — .

(ererD) (i)

(A) HIET (i) gR&IG®T
(B) =TI (i) TepfeliT HAaH
(C) Mid= (iii) DI TR
O)IF @ wWT (iv) IR
@ -

(1} A-(i), B-(ii), C-(iii), D-(iv)
(2) A-Gi), B-(iii), C-(iv), D-(i)
(3) A-(iii), B-(iv), C-(ii), D-(@)
() A-(ii), B-(iv), C~(i), D-(iii)

(8) SrgailNG WA
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~ Who was the President of the first session of

Jaipur Prajamandal?

(1) Jamnalal Bajaj

(2) Heera Lal Shastri

(3) Karpoor Chand Patni
.(4) Chiranji Lal Mishra

(5) Question not attempted

* Dayabai and Sahjobai wére disciples of which
saint of Rajasthan?

(1) Saint Haridas (2} Saint Laldas

(3) Saint Jasnath (4) Saint Charandas

(5) Question not attempted

* Who was the President of the open session of
‘Marwar Lok Parishad’ held on 8% February,
1942 AD?

(1) Swami Chain Das

(2) Jai Narayan Vyas

(3) Chaudhary Umaram

{4) Ranchhod Das Gattani

(5) Question not attempted

 Select the cormrect statements about Sringar

‘Chanwari Temple -

(i) Htscentral part is covered with a circular Jain
dome. _ :

(i) It was built by Bhandari Velaka/Veka, son
of Kumbha’s treasurer.

(iii) The plan of this temple is circular.

(iv) It has four wings protruding from all four
sides.

Select the correct answer -

(1) (ii) and (iii) (2) (), (ii) and (iii)

(3) (i), (ii) and (iv) (#) (i), (iii) and (iv)

(5) Question not attempted

~ Who among the following was the Chairman of

“Meena Sudhar Samiti” (Meena Reform

Committee) established in Neemkathana in

19447 :
(1)- Rajendra Kumar 3
(2) Banshidhar Sharma

(3) Mahadev Ram Pabadi

(4) Chhotulal Fharwal
(5) Question not attempted
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of? '
(1) ST gITo

(2) ERiatrer T

(8) PR =< g

(4) RRST e s

(8) Ir<IRT WA

g off? ' .
(1) g sRem™ (2) T e
(3) 9a SARI (4) 9 TSI

(5) SR W=

- 8 BRAN), 1942 ¥ &I IR AIRars dle

TRy B T e D e P82
(1) =l 39 <™
(2) ST IR AT

(3) et SURW

(4) BT TN TEFT
(5) IrgRer =
HIR G AR & 9w # 98 vl &1 75w

iR —

,(i)sgmﬁwwmam?ﬁﬁwﬁm

I

Gi) 3FHT FHier 31 & PRI @ I TSRy
AABT /IBT 3 HRATET o | '

(i) S AR & FerT NarsrR &

(iv) 398 TR AR ¥ IR ug fywer gu §

el SR BT T BT ~

MGG @ @, Gi) 3R i)

@ @, )R Gv) @ @), i) 3R (v)

(5) rIRT W

- Preafafea § ¥ B9 1944 ¥ SAwRmEr §

i Ao guR |k @ orge o?
(1) Xo BAR

(2) gefer =

(3) WEIGT ¥H Ues

(4) BT SIRad

(5) srIRa wed
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11. Which of the following statements are true?

12.

13.

(i) Rangmahal was excavated jointly by
V.N. Mishra
Archaeology Department in 1959 AD.

and Rajasthan . State

(i) Rangmahal is a Pre-Harappan *
archaeological site in Northern Rajasthan.

(iii) Rangmahal was excavated by Swedish
~ Archaeologist Hanna Rydh in 1952-53 AD.

(iv) Rangmahal culture is of Kushan period.

Select the correct answer -

(1)-(ii) and (iii) (2) (iii) and (iv)

(3) (i) and (iv) (4) (i) and (ii)

(5) Question not attempte&

Where is the painting “Krishna with eight

Gopies depicted as an elephant” found in

Shekhawati?

(1) Kanodia Haveli, Mukundgarh

(2) Goenka Haveli, Fatehpur
(3) Ruia Haveli, Ramgarh
(4) Poddar Haveli, Nawalgarh

Match the following and select the correct

answer from the code given below -

(Authors) (Books)
(A) Jayanakabhatta (i) Prabandhakosha
(B) Nayachandra (ii) Hammiramahakavya
Cy Rajashckharé (iii) Prithvirajavijaya

(D) Chandrashekhara (iv) Surjancharit
Code - .

(1} A-(ii), B-(iv), C-(iii), D-(i)

(2) A-(iii), B-(ii), C-(i), D-(iv)

'(3) A-(i), B-(iii), C-(ii), D-(iv)

{4) A-(iv), B-(i), C-(iii), D-(ii)
(5) Question not attempted

1. freifed § & . e wer &7

() THEd BT ScaTT ALy, s U IR
IR RIT HRT S g e W 1959 .
H fpar o} -

(ii) ST ORI H FHEA TrR-geHl N
R 1 :

(ifi) THIEE BT SoET Wied & YRIG<a
TS + 1952-53 8. # fhar |

(iv) STTHE EXB G B B |

(1) (i) 3R (iid) 2) (i) @ (iv)

@ @) R Gv) @) (i) 3R (i)

(5) argaRa we

# fafm” PRk o fer 87
(i)-aﬁﬁ%mﬁ?ﬁ,w
(2) T T, BABYR

(3) Bz w4, WG

e IR §ell, ARG -
2 (5) arpaRa e

(5) Question not attempted i

ffaiaa @ gafea @iy wd < B3 ™

He ¥ W GE SR BT TWE BIG —
(o) @)

(A) SAFHAE (i) VP

(B) T (ii) SIRTETHT

(C) TISTRIER (iii) PARRSE

(D) THIER (iv) GReFERT

7€ -

(1) A-(ii), B-(iv), C-(iii), D-(i)

(2) A-(iii), B-(ii), C-(i), D-(iv)

(3) A-(i), B-(iii), C~(ii), D-(iv)

(@) A-Giv), B-(i), C-(iii), D-GGi)

(5) argaRT we

00 - &,
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14.

Which statements are frue about the Bijolia
Movement?

@ In 1903, Rao Krishna Singh imiposed

Chanwari tax in the Bijolia area.

(ii) Prithvi Singh put the burden of the amount
taken by Mewar as ‘Talwar Bandhai® from
new Jagirdar on the stbject.

(iii) In protest, the farmers did not plough in the
entire Jagir.

14.

GET IT ON
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?ﬁhﬁmaﬁaﬂﬁﬁwﬁm‘mé BT L -

?

() 1903 % ¥ <@ w1 Rig = Reifer &3 3
AT HY T |

Gi) g Riez ¥ Yore g™ T wNiRER ¥
TR S, B WY ¥ Wl T8 W9 3T AR
ST R ST |

(i) TR w@wy fHam 3 9 WFiR 3 859

(iv) Prithvi Singh understood the mistake and . . £ .
announced some. concessions to Tarmers. @) M e # TeRR Bl A diR k2l
Select the correct answer - 3o Ramd <1 @ =wen 3
(1) (i), (i) and Giv) (@) (), (iii) and (iv) e SR BT 7T BT —
@ i, i and G AP ) Gi), Gi) AR Gv) (@) ), (i) 3R (iv)
i), (ii) and (iii) (4) (i) and (i) NG ) -
5) . (3) (i), (ii) 3f¥R (iii) @ (i) 3= i)
Question not attempted
(8) FreIRa we
15. From where was the Lingodbhav idol, displayed ~ 15- 3R dysrea o walia fefiigwa ARk @&l 9
in Ajmer Museum obtained? T g8 87
(1) Osiyan (2) Buchkala 1) anfREt (2) gEmen
(3) Abhaneri (4) Harshnath (3) I (4) =d9rer
(5) Question not attempted (5) argaiRa we
16. As per Census 2011, how many cities/urban  16. S=RIVFT 2011 & NN, YoM ¥ 5 &/ @ q
agglomeration have tlie population more than AP STEET I e,/ TR, Hepar T
5 lakh in Rajasthan? oy?
6 (2 4 (1) 6 @ 4
@33 @ s (3) 3 @5
(3) Question not attempted . (5) IrgaRd ue
17. According to the Census 2011, the literacy rate ~ 17- 2011 &I ST & AR, oI ¥ 15-24
«of youth in Rajasthan in the age group of 15-24 9§D ag T B gaell @ weRa <X & -
years is - 1 ,
(1) 96.54 (2) 81.73 23; 32'22' g; 2;;3
(3) 79.46 (4) 88.89 5 . '
(5) Question not attempted , (8) argiiver e
18. ‘Which among the following (Solar Power Plant  18. o & & o (@R oot Ga=—fren)
— District) is not correctly matched? w8 gt =8 87
(1) Dhuni — Sikar (2) Agoria — Barmer (1) =7 — iR (2) FRAT — TSR
(3) Gorir — Jhunjhunu (4} Mokala — Jaisalmer (3) TR — ST 14) wieperr — -.}]q:[aﬁq
{5) Question not attempted (5) araRa weA
18. Which of the following statement about the Luni 19 T[T <1<t & fawy  fFe=iforiRaa 4 9 ﬁﬁ"ﬁT BT
river is false? ey 87
(1) Its water is sweet from its ongm,to Balotra, (1) %GQ‘IH J TN B GF FGBT UHT dieT
town. g I
(2) The eastern boundary of Luni river basin i3 el @ Ffﬂ w41 IR o g& A BIe T QR
‘Kala Bhura Dungar’. .
(3) It flows over 5.6 percent of the total drainage &) ?E;' TR & §d Iais 89 & 5.6 uferd
area of Rajasthan. 9T O yafRd B |
(4) This river flows upto Rann of Kutch. (4) 78 9< B B 0 qD uErrI%?r Bl &
(5) Question not attempted (8) sraRa w1
00 - Page 5 of 32
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20. As per Census 2011, which district of Rajasthan

21.

22,

23.

24.

25.

has sex-ratio less than 800 in urban areas?
(1) Jaisalmer (2) Ganganagar
(4) Alwar

(5) Question not attempted

(3) Barmer

Read the following facts carefully about an

Agro-climatic Region of Rajasthan -

(A) The average rainfall of the region is 30 to
50 cm.

(B) Red desert and Sierozem soil are found in
this region.

(C) Wheat, Mustard and Sesame are major Rabi
crops of this region.

Identify the Agro-climatic Region -

MI-B @1-C

@ Im-A @1-A

(5) Question not attempted

Which of the following Agro Food Park is not

developed by RIICO? - .

(1) Udyog Vihar, Sriganganagar

(2) Boranada, Jodhpur

(3) Ranpur, Kota

(4) Kishangarh, Ajmer

(5) Question not attempted

Which of the following soils has been
developed/formed from the Deccan trap in

Rajasthan?
(1) Brown (2) Grey Brown -
{3) Red Loam (4) Black

{5) Question not attempted

Which of the following is not matched correctly?
(1) Luni Basin —Nehad

(2) Nagaur Highlands — Dora Parvat

(3) Shekhawati Region — Johad

(4) Ghagghar Plains — Nali

(5) Question not attempted

As per Indian State of Forest Report - 2021, the
forest cover in Rajasthan was - :
(1) 14655 sq.km approximately

(2) 16655 sq.km approximately :

(3) 19655 sq.km approximately

(4) 18655 sq.km approximately

(5) Question not attempted

20.
7

21.

22,

23.

24.

25.
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STOFT 2011 & ER, oA H TRY 85
H 8009 o felmgura <@ aren Rrem S
&

(1) TR

(2) TR
(3) TR (4) s/
(5) srgaiRa u=A
TR B H BIY-IAR] ToU B T,

fr=forae e} &Y b ufed —
(A) 59 UoT B 3Ea a9t 30 ¥ 50 9AL ¥
(B)z;ﬁu?ﬁmﬁ?ﬂﬁmméﬁwm
|
(€)W, Tl vd ot 59 wewr & B
B & 3

| ,
PR—STEY Y DI g —

Muo-B @I-c

G u-A @n-A

(5) srgaia weA

Frefofed 5 9 I T B a1, dar g
R 721 & = 82

(1) ST fAER, SRR

(2) IRTTST, WNEYR

(@) IR, BT

(4) frerrTg, IR

(8) 3rpRa e

o ¥ R d § B RS9
v ¥ fofha /Affa g 82

(1) 38 (@) i i@

(3) FTet <Y {4) w1t

(5) srgaRa wea -

it 3 @ sar gafera =S 87

() <t AR — Ve

(2) iR Sem AT — SR1 uda

(3) 9@ WS — WSS

(4) TER He™ — e

(5) sl wes -

A 99 Rerfa RAd—2021 & SFNR, o™
¥ geTERoT o —

(1) 1465597 f53. T

(2) 16655 Tt A aET

(3) 19655 T fh . erTrr

(4) 18655 - fpAl, TrrT

(5) srgaiRe w=A

00 -
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26. Which of the following are environmental 26
effects of unsustainable mining in Rajasthan? T UG TEE B 87
(A) Air pollution (A) 91g Jgyvr
(B) Loss of biodiversity (B) Sig—fafderan &1 &9
(C) Land degradation (C) 9% &xo
(D) Surface and ground water pollution, (D) TS AT T UG
Code - e — \

() A,B,C,D (2) A, B, C () A,B,C,D () A,B,C
3)B,C,D (4) Only B and C (3) B,C,D (4).%aa B @21 C
(5) Question not attempted (5) Srgaiiea ue :

27. The unemployment -allowance given in 27. oA # G gar e Ao 2024 @
Mukhyamantri Yuva Sambal Yojana 2024 in S oY el w%?rn aﬁ\—mﬁ’f AT SHASE:
Rajasthan to male and female respectively is - g~
(1) 4000 and 4500 per month (1) 4000 3R 4500 URIE
(2) 4000 and 4500 per year \ (2) 4000 iR 4500 wfcreay

) {3) 4500 and 5000 per year (3) 4500 =fi® 5000 whay ,
{4) 4500 and 5000 per month (4) 4500 3fR 5000 ufrFTE
(5) Question not attempted (5) Hﬂﬂﬁﬁ 7o

28. Initially the funding ratio of Desért Prone Area  28. @ WA &5 PpA (SLNTH) H Foor 4
Programme (DPAP) between the Govt. of India YRA HER q27 o WReR § fad gy
and Govt.-of Rajasthan respectively was - IO HE: oF —

(1) 75:25 (1) 75:25

(2) 100% by Govt. of India (2) w1 Wi MRT WRPR NI

(3) 50:50 (3) 50:50 |
(4) 25:75 s (4) 25:75

(5) Question not attempted (5) arpelRa we

29. Which among the following factors affects 29 IO # AFI SEFT & WINMIAGRT BT B
localization of Sugar Industry in Rajasthan? BN, JAAT DYl &7
(A) Availability of sugarcanes .in the nearby (A) i @ U B &= § T DY STASa)

areas of mills (B) IRTEH & 3 B YAl
(B) Availability of transport facility (C) Gewx 'QE[ B SUdSAr
(C) Availability of Lime and Sulphuor (D) I T e 5 :
(D) Cheap and skilled labour HT —
Code - ‘
(1) B, C and D (2 A,B,Cand D (1) B, C D ) A, B, C3RD
(3) Oalv - (3. 3qa ASRD @ A, B3R C
nly A and. D 4 A,BandC ®) e
(5) Question not attempted SRR

30. Receritly in which district of Rajasthan, Bauxite, 30 Gﬁwaﬂ?f ERT &1 B ¥ IoeiE & f& ﬁlﬁ
occurrences have been reported by GSI? ¥ diqarge @ i R &F 18 87
(1) Kota (2) Udaipur (1) HﬁET (2) SgagR
(3) Banswara {4) Jhalawar Ak (3) SraareT @) TraETS
(5) Question not attempted (8) srgeie we

31. Which of the following are the names of the ‘AT’ 31- 73, 2024 ¥ 'Y< fHEF I’ gRI Al ﬁv‘q
(Artificial Intelligence) Anchors launched by TT TS, RUREERRE sefie) ted &
‘Doordarshan Kisan Channel” in May, 20247 M f=fafead § § S99 &7
(1) Rani and Krishi (2) Bhoomika and Raja (1) 3= vd oY (2) ¥ 79 T
(3) Krish and Bhoomi (4) Farmer and Nandini @3) B9 Td g (4) BFR T SR
(5) Question not attempted (5) arTaa e ‘

00 -= . Page 7of 32 N
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32,

Consider. the following statements about

« Amnesty Scheme 2024 introduced by the

Finance Department of Rajasthan —

(i) It addresses outstanding tax demands and
disputed amounts.

(i) It aims to provide subsidies to small
entrepreneurs.

Select the correct option among the following -

(1) Only statement (ii) is true.

(2) Both statements (i) and (ii) are true,

(3) Only statement (i) is true.

(4) Both statements (i) and. (ii) are false.

(5) Question not attempted

32.

@ 2024 B I8 ¥ =R soHl ® AR
@) Wmmwﬁaﬁ?ﬁmﬁﬁmzﬁr

- FARE F B
ﬁ(u)gﬂﬂﬂ;ﬁ@ﬂgwﬁﬁaﬁwm

Frifafea § 3 w8 R &1 799 difdg —
(1) g FF (i) T T

(2) SFF BF (1) U9 (1i) I T

(3) DI FIT () TT B |

“(8) QN1 HUF (1) Td (i) ITT & |

(5)31'-;1,?1'@?{9'2:[

33. Who amongst the following has been appointed ~ 33- /TSI cmm\r! TP ANl (I9-3) B
as the Convenor of the High Level Committee afcTa Harera 303 WETdene™l & e &g
constituted to review 303 colleges operating ST ST WG 9T &7 GO9E Metelad
under Rajasthan College Education Society ¥ By frpe fibar R 87
{Raj-CES)? (1) T BRI T
(1) Professor Shobha Ram Sharma ,

(2) Professor Manoj Dixit (2) der T e

(3) Professor B.L. Choudhary (3) MpER N.ua. AR -
(4) Professor Kailash Chand Sodani (4) TR D T 9IEFT

(5) Question not attempted (5) srgeRE W

34. Who among the following is the winner of the 34 Fifsg ¥ ¥ “Ra ¥ “eeiv TARRA<A
‘Goldman Environmental Prize-2024’ from MS9—2024" T fooiar o 87
I;n)dia-? o oo _ (1) 521 Hgan (2) o Rig
(1) Mahesh _Mehfa ( )‘Rajenclllra Singh (3) sl v @) T TrER
(3) Alok Shukla (4) Medha Patkar 5) ,

(5) Question not attempted 3 T

35. Which rank is globally secured by NTPC at the  35- /3, 2024 # TS (HiRe ®R <o
ATD (Association for Talent Development) Best STTHE) e AT, Juay #§ gEddE 9
Awards, USA in May, 20247 INgT wR | B w©F SR fhar 3?7
(1) Third (2) Fourth (1) i (2) =gef
(3) Second (4) First ' (3) g (4) gy
(5) Question not attempted (5) sraRa. we )

36. Who among the following is not amember ofthe ~ 36- Yiog fawFT, IoiRIsT @t T g
Cabinet Sub-Committee constitated to review afed 17 ot v O 9url 9 venaihe
the administrative requirement of newly formed dEEHal P HeT W HHET B od
17 districts and three divisions by the Amveciiy ST &1 FEiea § ¥ o
notification of the Revenue Department, oy T8 27
Rajasthan? 1 ‘\??T R <aa
(1} Suresh Singh Rawat @) S5 Hon
(2) Hemant Meena

3) SR U<l
) Jogaram Patel o i v
(4) Rajyavardhan Singh Rathore * . -
(5) Question not attempted (8) g s
00 - Page 8 of 32
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37. According to ‘SIPRI Report 2024 on Global

Military Spending’, India was at which place in
20237

37.

GET IT ON
Google Play

‘Mes T9 @ W THAaR.GaRanE. ()
ReE 2024’ B AR, 2023 % TRT PR ©IF
Y o7 -

(1) Fifth (2) Third () gis (2) Sy
(3) Sixth (4} Fourth @) T3 @) 2o
(5) Question not attempted (6) argaRe we

38. In which of the follo;ving month State Water 38 38tR Vol Weud & fon ToTRIm ¥ g o
Resources Information System Dashboard has AR I el ST e A 9 ure
been launched in Rajasthan to make better water T T 29
management? (1) =3, 2024 (2) 7, 2024
(1) May, 2024 (2) March, 2024
(3) February, 2024 * (4} April, 2024 (3) e, 2024 @) 3, 2024
(5) Question not attempted (8) SR wE .

39. According to modified budget 2024-25 of 39 JoRIA @ URaRid Fe 2024-25 F AR,
Rajasthan, the Provision of amount made for S W wEe gEei Rer Sere deEr
‘Dr. Shyama Prasad Mukherjee Jila Utthan ¥ Re SFRIRT 1 STET fpan, T ¥
Yojna’ is -

(1) T 100 crore (2) ¥ 500 crore 1¥ 1009 3 500 7S <
(3) T700 crore (4) ¥ 300 crore (3) 700 1 < ) 3007 X
(5) Question not attempted (5) argaiRa e )

40. Who among the following is the Director of the 40 Fraifaifag # & oF v wvemad a® €@
film ‘Sunflowers were the First Ones to Know’ o 9 € A @ Fdve & w774 e
which has won the ‘La Cinef Award’ at the 77% foren R 3 o RE® TR S &7
Cannes Film Festival? )

p (1) Santosh Sivan (2) Maisam Ali (1)‘Wq feem (@) ¥ <l
(3) Chidananda Naik ~ (4) Payal Kapadia (@) Ferie e () dRe B
(5) Question not attempted (8) srgailRa s

#1. From the following ANOVA table of a Latin 41 famfaifaa ANOVA arferst # o wifes =t
square design, the sum of square due to columns SFIBHST D BIeTEl P a9 BT AT & —
is - TEEHOEN | W@ | wWEA ek |6 I 6 I

Source of | Sumof | Degreesof | Mean sum BiTH - -
variation squares freedom of square - YRR 420 _ _
Columns | - | 3 ) .o R TR - . 73
%gfm@ﬂmw.u4io N N R N % £l n - 065
Errors’ - - 0.65 Bl 30,65 - -
(130;35.30 = @ 12.15 (1) 10:30 (@ 12.15
(3) 820 4) 5.95 (3) 8.20 ¢4) 5.95
(5) Question not attempted (5) argaRa W=
00 - Page 9 of 32
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42. 1f a cluster sampling with N clusters, each of size

M and the size of the sample n is considered;
then its efficiency with respect. to Simple
Random. Sampling Without Replacement
Scherme with sample size nM is given by -

Where, S? denotes the population mean square
and S denotes the mean square between cluster

with- parameters A; and Az respectively, then the

42. gfg MaTeHR & N}

¥ n UfASY & AR T, A THS! Q&[T AR
TfRIge ST AHR oM B, B |el BR —

IEl, S*UMEE Al B ARg T Pl qm SE
wfte ¥ e Ardl @ 4 wrm ot @ g

+ +'mean in the population. gl -
(1 _s? 2) 52 - s2 m_s (2) 52 — gf :
(Ms) ' (Msg) i
(3) Ms? —s? @ _sE (3) Ms? — s2 @ st
(Ms2) {MS2)
(5) Question not attempted (8) sk weA
43 Let X1, X2, oo Xn be (N>p) 3 AR ARG X1, Xa, oo , X (N>p) Jeror
observations from Normal Distribution N1, X) TG g NQL, 3) ¥ &, o1 =, p @l digaq
“;Ihefe 2 is matrix of P% I\I/)IL és gi;fef;nt ARG i aTov: A N VAU i
characteristic roots, a set o o A1, A2, I g@ )
.............. o ol 8 SIMLE of b e 1 00, B0 3 MG
B® are roots K1 > Kz >..pcevennnelon> Kp i i P
o ST gl 8 |
obtained from. ) i53” o) |6
Mz -K=0 @[E—K|=0 MpEr-Kk=0  @Iz-Ki=0
(8) Question not attempted () srgeiRa e )
44. Let X3, X2 be two independent Poisson variates 44 ), G217 A, 7 WEe & AT X; @ X, aa=

conditional distribution of X; willi be, when X1+ X2) Ugol B T et 3 _

(X1 + X>) has already decreased - (1) OIRR e

(1) Geometric distribution @) Rug des

(2) Binomial distribution e

(3) Poisson distribution (3) W g .

(4) Negative binomial distribution (4) FORR fgue g ,
(5) Question not attempted (5) IraiRa 7 '

45. Which multivariate distribution is used for 45 & W7y #ny ARW W g W B Ay
comparing the mean vectors of two populations BITET 9gTR deA ugw BT Sigfd SR o
when common variance—covariance matrix X is TER OIS IRIOT ﬁ-la;ﬂq S e 20
same? lefiT T2 4
(1) Hotelling T? Distribution M . -T e
) Wi o () fa=d des

ishart Distribution : 5
/" (8) Mahalanobis D? (8) wrerifas D?
’ (4) Multivariate Normal Distribution ) gg=R TEY §e
(5) Question not attempted (5) srgaiRa wem
46. If X is a normally distributed random variable: 46 =1 T %2 =2 & @™ Ife X TH AMERT

with t = 1 and 6% = 2, then the asymptotic
distribution of sample median forn =20 is -

§ieq AgRe® o) §, d n=20 & fow uRred
HIRIHT BT SF=eTe] g Jar B

o@D E G NG ()
@ y (1, %) @) N(_i' 325) 3 N(l. %) (4) N(l, g)
() Question not attempted (8) araRa wed

00 - [
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47. Suppose X and Y are zero-mean jointly normally

distributed random variables such that
o§=4a§=19—7 and EX, Y) = 2

If (Z = 2X — 3Y), then what is the probab111ty

47.

GET IT ON
Google Play

q f6 X d@en Y Y ORI P WS Wgad
aE dfed agRes W 39 Ter ¥ &
ck=40}=" @ EX Y) =2 ¥ R
(Z=2X - 3Y) &), A Z &7 il T B

density function of Z? BRI .

M2 =2 @ 1 = (M) 5, = @ 4 -2 ‘
Vor © Ver Ve IR

@ 1 = @ 1 -2 @ 4 =2 @ 4 -
Visn© Tom - T = TZR e

(8) Question not attempted (5) srpaRa we

48. For a symmetric distribution - 48. yufaa dea o forg —

Mw>o @) u3>0 Mup>0 @ >0

(3) l,l,3 =0 (4) p,z = (3) M3= 0 (4) M2 = 0 B

(5) Question not attempted (5) FrgRIRe U _

49. Let xi, X2,..e.e. Xn be a random sample from 49 W ST x4, X2,enne..., Xa B grgfes ulagy
N(8, ¢%), o° is known, to obtain confidence N(8, 6% ¥ &, Wb o 919 &, o f=fafen 3
interval of 0. we can use-which of the following 4. oiar 990 75 & wU H 0 BT fawawsiaan

! as Pivot expression? NI §I9 & o s o foran wmar 87
1 -8) 2 (%-6) ' %0 %
W p=1ED @ go7Eo M m=7E9 @ E=TE0
(3) (x—e) @ &9 (3) = &-9) @) —(%-06)
n o Vo V== O
(5) Questlon not attempted (5) srgaia wee
50. A test of a null hypothesis against an Alternative 50 U& =1 IRFE $1' Y Jobfoqds uReeawr &
hypothesis, is said to be unbiased if - fog TferT ¥ ¥ oFRNT ®9 HEl JTRRT?
(1) Power of test > & (1) gdiegor o ol > o
(2) If probability that statistic will fall in critical 2 7fe wif@! & ®ifve a7 § i &
region is o (00 = size of I kind error of TIET o B (00 = WIRear @ UeH HeR
1, probability) ®! Fe BT AR )

(3) Power of test < o (3) Tieror @ I <o

(4) Power of test = o (4) T B AR = a

{5) Question not.attempted o (5) srgaRe U

51. At the centre; multipurpose socio-echntus 51. g7z ¥, Tg-Sqevim arise—anfie ademi
surveys are mainly conducted by - BT ARG Pl g g ¥ 5961 PR & —
(1) National Informatics Centre () M I dw
(2) NSSO (2) NSSO

' (3) Indian Statistical Institute (3) 9™ '\qm eI
@ Cso (4) CSO |
(5) Question not attempted (8) sl T
52. Sum of absolute deviation about median is - S2. mifeapT & wue Ry fdwem @ A e
(1) infinite (2) zero %. -
(1) s=q ) T
3 4). : . .
(3) least (4). greatest @) @ afe
(5) Question not attempted (8) sraRa v
00 - Page 11 of 32 ,
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. 53,

The consumer price index for April, 1985 was
125. The food index was 120 and 135 for other
items. The percentage of total weight given to
food is -

(1) 68% (2) 63.5%

(3) 66.67% (4) 67.25%

(5) Question not attempted

53.

Si¥d, 1985 H SUHEAT I YAPIS 125 o}
A BT GGG 120 &1 TAT I TS B
forg 135 o1 | Wio WX @ & o et 9R &
fererT & —

(1) 68% (2) 63.5%
(3) 66.67% 4 67.25%
(5) sraiRa e

54. Which distribution is used to test equality among 54 =Y ¥ 311w Taas TR IRNOI-ENERCT Afgadl
more than two independent -population’s & 7 P GAFAGT B W & ford e § 9
variance-covariance matrices? PIFET 94 WIH ENTT?

(1) Hotelling T Distribution (1) ErefdiT T2deq
(2) Multivariate Normal Distribution (2) aga? THERT §S9
(4) Wishart Distribution (.;) e g
(5) Question not attempted (5) ariRe e
- 55 The mode of F(v, V») distribution is - 55. F(v1, v2) ¥ &1 95 3§ —
(1) Vi—2
M (22 (522),0, > 2 (5r2)- (5w >2
vy +2 vy (2) (v2+1) (va- 2)
(@) @2+ (1-2) v, > 2 vt v V12 /
v +2)" vy ! 3 Wt 1
@y Gy O g >1
Vi ) (Vé_ 1),, (4) V2 (‘V1 2)
D g e > 2 N R
2 1 » 5
(5) Question not attempted '% (6) srgeiivg il

56. T Y denotes total production of selected crops ink#z29- afE Y uasiat E}BTCEF{ ¥ g waal @ ES)
umnit area, SUSl @ Freiud Bl B,

Yn denotes total production of same related Yn VSR VR W S § W el & B
crops at National level, 5 ga EI? EEI i ﬂSEEiH ? & Fref

T denotes total crop_ped area of the unit, %‘ Bl AU
Tn denotes total cropped area at National scale, Tn W TR TR Gl BEe Sl B Frefi
then National Agricultural Productivity Index el % ar sy Tﬁ SIS GBS (PI) o
(P1) is given by - ' SaT g —

MPI=YYn:TIn ()PI=TYn=+YTIn (N PI=YYn+TTn () PI=TYn-+YTn
B)PI=YTn=YnT ) PI=TTn/YYn @) PI=YTn+YnT (@ PI=TTn/Y¥Yn

{5) Question not attempted (5) SRR wed

57. Stratified Random Sampling is recommended to 57 wiRa Irgfes ufvmgs Oy o1 swaw a9

use when strata are - ST BT & SHEh WK —
(1) Hetrogeneous between them (1) var Ry 8
{2) Within as well.as bétween homogeneous 2) R © T NER G 8
3) Wich . : PN
£4; gitlﬂnuz hﬁznrgie:zggtsls and ‘between them ® N &
hetemgeneousg ’ @) HR ¥ O T WER ReasE 8
(5) Question not attempted (8) SrgeiRe e
00 - . Page120f32
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58.

59.

60.

The coefficient of correlation between X and Y
1s 0.6. Their covariance is 4.8. The-variance of
X is 9, then- S.D. of Yis-

(1) 06 (2) _06
9x4.8 3x4.8
(3) 48 (4) 28
9X0.6 3x0.6

(5) Question not attempted

‘For a population of size N and of sample size n,

under Simple Randorm Sampling without
replacement, the unbiased estimator of
population total T(= YN, y;) is -

where, ¥ denotes the sample-mean.

(1) Ny () ny

@), _ EEiv) @= Ny
t= Ten nY

(8) Question not attempted

A null hypothesis is defined as -

(1) Hypothesis under test

(2) Hypothesis tested for possible acceptance

(3) A negative hypothesis

@ It is negative hypothesis under test for

GET IT ON
Google Play

58. X 9 Y & MH OE9eY TONE 0.6 T IHT

TR 48 B X BT RV 9 &, @9 Y &l
e o= g —

(1) 06 (2) 06
9x4.8 3x4.8
(3) 48 (4) 48
9x0.6 3x0.6
(6) FrgiRa ueA

- N 3R P T FHe g n PR & TS &

T(= Ziayi) ® S ST & —

SEr, y ufis? 9 oy s g
(1) Ny (2) ny

@, _ Gl @ =5
t=Sam TR

(5) Sr<IRe e

- TP I IREGeuT P gRvifa far o & —

() weroT &' 5 GRS
(ﬂgﬁaﬁqﬂwﬁm’ o9 dwifeg WieR &
(3) Foca® gRBEYT N

@) v gREeTT S 5 =omeis & ek S9

possible rejection ‘iéfg”f # ﬂgﬁﬁ RPN B B 1%«11& I
. ‘ 1ar :
(5) Question not attempted ) i
61. The class interval of the continuous grouped data - Had Arlfed 3fidpsl & forg v SiaRTe 8N —
will be - 10-19
10-19 20-29
20-29 30 -39
1029 40-49
50- 59 30-59 \
(9. () 14.5 (9 2 145
(5) Question not attempted () srgaRa w '
62. For a‘random sample of size n i SRSWR, the - SRSWR #, t% n#19 & Igfe@ 4iigesl 4 urd
statistic s? = LE§‘=1(xi — %) is- it —
. S s2=-1yn (x,—%)°%-
(1) Biased and consistent estimator of 6 | noq 2= (X~ X)
(2) Unbiased and consistent estimator of 62 F M) o*%1 fa v ST SIperd
(3) Biased and inconsistent estimator of ¢* ‘i’ @ 0'2'25[ _'(,'E[ W
| {4) Unbiased and inconsistent estimator of 6> ) o¥ar ﬁlﬁg 9 ST APt
{5) Question not attempted @ otar v
pie (5) rgaRa W
00 - Page 13 of 32
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63. A machine produces 10% defective items. 10  63- g& 79 10% ©RE (QI9g0l $HILA) Sediad
items are selected at random. Find the Fl 51 10 SHIET BT GBS BT A iﬂ[ﬁﬁ
probability of not more than two items being o | &1 § e QNgEl sergat Al
?::)fective. \ @) oo I &1 I, 96! Miiear gargd |

RAVE RANYE (1) 79\ f24)° (2) £9\° (24 !
(10) ( 9 ) (10) ( 9 ) (E) (?) (ﬁ) (?)‘
@ (1)“ (%) “) (2) (_ 0 (3) (910 (24 @) (9 (24)10
w) (5 10) s (5) (%) &6
(5) Question not attempted SRR wed o

64. A continuous random variable X has a pdf 4 Q‘tﬁ'\‘ﬁﬁ tn?gl%a—cﬁa? X T YTl ocd Bl
f(x) = 3x% 0 < x < 1, then find a and b such f(x) = 3x% 0<x<1% da TAT b Efd
“that - BHifoe —

() P(X <a) =P(X > a) (@) P(X <a) = P(X > 2)

(i) PX >b)=0.05 _ (1) PX >b)=0.05

M 1 % 1\ @) 1\ 19\3 M (E)%FTQJT (_1_)% (_1_) ( )
Gy and () () and () o P, z

@ 2 2 @ /3 3 1\z0 1\z 1
e Qe O Qe

(5) Question not attempted ' ) kA .

65. Correlogram is an important tool which 65 HIRARM TF TEwayel IUIRV (GRF) B S
provides - ST E —

(1) Seasonal variations of time series (1) o 2o @ S99 SeaEas
(2) Measurement of cyclic variations  (2) g SeEEEA] BT HYE -

. (3) Nature of the internal structure of time series F¥ R (3) w17 S0 3 sieaRs G & EAT
(4) The moving average of random elements | (8) R et @7 Te "R
(5) Question not attempted (5) SIRT e

66. The equation of the parabolic trend is - 66. U URgerll SUAN & FHIBRT B —

Y=466+24X-13X> Y=466+24X-13X>2
If the origin is shifted backward by three years, afe &= B a9 4D B ae Rive wx
the equation of the parabolic trend will be - SR, A URARb SUART BT THIBIOT BRIT —
MDY=511-54X~-13%* MNMY=511-54X-13%X>
(2Y=277+102X-13%X> (2 Y=277+102X-13X>"
B Y=277-54X-1.69X%X? B)Y=277-54X-1.69 X2
4 Y=277-54X-13X%X? @) Y=277-54X-13X>
(5) Question not-attempted (5) srgaIlRa e

67. 1t Xhas a chi-square distribation w1thn df,find 67. Ifg X; n @ difc & A FE—IT de &,
the probablhty density function of = ar %Eb‘r TiRwar 99 B Fid BIoig |
M samma (:; n) 2) gamma( n®) ) gamma G n) (2) gamma (n?)

(3) gamma (n) @) gamma G n) (3) gamma (n) @ oamma G n)
(5) Question not attempted (5) SI<ING U

68. For Poisson distribution - 68. @Rl de % fag —
(1)62""131’“’3=0 (2)B1=B2 (1)B2—-Bl—3=0 (2)B1=l32
@) B—Bi+1=0 @ By — Bo=1 3) B2 — Pi+1=0 ) B - B2=1
(5) Question not attempted (5) araRa T

00 - Page 14 of 32
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69. In an RBD having 5 treatments and 4 blocks with AGREPIH  WIEH BT T
one .observation is missing and following 5 IUAR] 3R 4 GvEHI § UF VI G § 3R
1information is given - _ o HEg o s E -

Total number of known observations o STAR Br 2T 7T Vet @7 GT = 40
corresponding to missing treatment = 40 SR .

Total number of known observations of the g @ £ ﬁm MY el
block having missing treatment = 50 30 .

Total of all known observations = 250 - T ﬁ'q Y YOl BT AR = 250 -

The value of missing observation is - < UeTOT BT 9 B —

(1) 20 (2 15 (1 20 2) 15

(3 10 @ 125 3 10 (4) 12.5

(5) Question not attempted (5) IrpaRa ue

70. Which of the-following methods is used to 70 Uep oIet Sivh & AfafAg ved @ 70 & forg
measure the jirregular component of a time e A 9 o9 RS o1 wair fear sEar 27
() Variae Diffeence Method ) ST
1) Variate Difference Metho 2
(2) Simple Average Method ) :3§ - HTY-EJW iy
(3) Ratio to Moving Average Method Yy o J
(4) Method of Least Squares T
(5)- Question not attempted (5) srgeTRey W

1 For two evénts A and B, if P(A) = 5, @ el A @ B @ R, Ak pa) =2,

3 ; 3 1
P(B) =3 and P(ANB) = 1 ,then A and B are — P(B) = 8 GTP(ANB) = 3’ a9 ATRITB —
(1) mutually exclusive but not,mdependent. (1) Trer Sy gl € el wa :@ %I
{2) independent but not mutually exclusive. (2) o € ifthT wReR st el 1
{3) fiot mutually exclusive and not independent. (3) TREUR 3qqi] 8l & T e T8 § |
(4) mutually exclusive and independent. {4) RER e g Wa &
{5) Question not aitempted : (5) araiRa U= .

72. Kurtosis is a measure of - 72. Tl A # 9 fae aue 87
(1) Quartiles (2) Symmetiy of curve (1) TgRibe w1 (2) g% I TP 1
(3) Peakness of curve  (4) Dispersion of curve () T B Hars b1 (A) IPH D THI Bl
(5) Question not attempted _ (5) s wew

73. In a 2° confounded factorial experiment the key 73 Us 2° yffiq sguier Wil # ¢ull @vss
block is - g -

i (1), (ab), (ac), (bc) (1), (ab), (ac), (bc)

then the confounded interaction will be - gfg a=a=fpar 8rl —

(1) AC (2) BC 1) AC (2 BC
(3) AB (4) ABC (3) AB ' (4) ABC
(5) Question not attempted ) (5) TR A

74. 4 cards are drawn randomly from a well-shuffled 74. ¢ e aRE O AT 52 arT @ udl @
pack of 52 cards. What is the, probability that all TSI ¥ W 4 W Agled w9 9 e |
cards are black or red? 'CPJT yiRipar BRI fb ) w7 Pl 1 e
(1) 2(5), @ @) < B

&3] [€3) : Mz (26)) (2) gg)
(3) 2:(3¢ (4) X 53
(—) (—% (@) 2 @ (%)
13 + *2) (52)
(5) Question not attempted (5) Gﬂﬁﬁﬁn — *
00 - Page 15 of 32
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75.

76.

bk

79.

In the usual notations, R? ,5 is equal to -
(1) rfz + ris— Fiaryares

(1~2r3;)
(2) Iz +1i3—2155

(1-1%;)
(3) r%; +rf3-2ry2r3

(1-r33)
(@) 2, +r53—2 115113503

(1-7s)
(5) Question not attempted
A and B are two independent events such that
P(A) = 0.7,P(B) = kand P(A U B) = 0.8,then
kis-

(1) s @1
7

@z @)z
5 7

(5) Question not attempted

- If X ahd Y are independent Poisson variates with

mean A1 and Az respectively, then find the
probability of X =Y.

(1) _—+2 w ),
e~ Z)Zr=OW

(2) o~(A1+2z) Moz
-
@ (hye)(Age)
4).a- A1+ 22)
(5) Question not attempted

Let us consider a population T = (¥1,-euere-e- ,YN)
divided into two groups, one containing an
attribute A and others do not. Further, let N; be
the number of population units containing the
attribute A, then under Simple Random
Sampling With Replacement Scheme the
variance of an unbiased estimator of P = Ni/N
is -
where, Q = 1 — P and n is size of the sample.
101 N

M (-3)ra @ (E-1)r
(3) kQ_ (@) kQ

{(n-1) n
(5) ‘Question not attempted
For a population size 6 and sample size 2 from
there-in, the inclusion probability of a particular

iMunit =1, 2, e , 6) under Simple Random
Sampling With Replacement is -
mz A (22
6 6
&) JEES (4) 25
36 36

(3) Question not attempted

75.

76.

78.

79.

N

T ARt § R2,, 1 # o g —
(1) rf, + ris—rizrizres

(1-2r3;)
(2) v +rf3-21

(1-135)

(3) rf; + 1332115193

(1-r%)
(4) 1}, +1r{3-2 112013023

P(A) = 0.7,P(B) = k@=TP(AUB) = 0.8,dTk

ms3s
7

@2,
5

(5) srgad ue

If X 3R Y wan wrdl w8, Rieer ang

;F?;T: MER A 8 W X=Y @ miwar &0
?

1) _ (ArA2)"
(')e (11+12)2?;0(iT22

{2) e~ A1+ 2z2) Mds

(@1
(4) 2
7

' (3) (11 e"li) (A.z e“lz-)

(8) o~(h1+22)
(5) srgaRa uz= -
TR T=(y1,-tnnnnn,yn) T FARE B, RRY 7707 A
T MR R S 9§ R e T &, e
d ufgee A & &k o/ 98| 9l o Ny
SPISAl A O dlell ©, 09 XA AgIeed
wfcree wferenuer fafy & sraefa P=NyN &
IR SATheIP BT TR & —
ST, Q=1—P, T n RS &7 PR 81
OG- OF-1)re
(3) _PQ_ (4) PQ

(n-1) n
(8) argxiRa wed
U GAfe fOrIsT PR 6 & 2 SvH 9 9afhg
B dle] Afel @ Hem 2 8 99 9Nd
T e icrerd= i fafy & sfaeia e
i 5B1E (i=1,2, .........., 6) ® ARG ¥ GtAfeT
W DI Tifear gFf

(11 @2

6 : 6
(@1 (@) 25
36

36
(8) arpaRa ugA

00-E
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80. Which of the following is not a division of 80- /= ¥ ¥ @i vy wRigy wd F@d &
National Sample Survey Office (NSSO)? AT T8l 57
(1) Data Processing Division (1) 3BT TETHOT THI
(2) Field Operation Division (2) &5 HeTer WHRT ig
(3) Survey Coordingtion Division (3) 95 I9<g U9 %
(4) Industrial Statistics Division (@) e |iferat TFT
(5) Question not aftempted (5) aaRa W
81. The properties of characteristic function are — 81. fyteror wed & [OT § —
Ay@O=1 d Oy 0 =1
(i) Jw()] < 1;forall t G W) < 1; 50t s ol
(iti) If y (t) is the characteristic function of X, (iif) ISy (), X BT oo Bor g, PO,
Y(t), complex conjugate of W (t), is the c.£. v (1) BT | |4 8, 1 (-X) B
of (-X) ﬁﬁw e BT
(1) All are true M) af) @ §
(2) Only (i) and (iii) are true (2) Bee (i) 9 (iii) 9 € ]
(3) Only (ii) and (iii) are true (3) Bae (1) T (i) T &
(4) Only (i) and(ii) are true (4 Haet (i) 9T (i) 99 ©
(5} Question not attempted (5) s e
82. If N = nk be the size of the population, wheren ~ 82- If¥ N = nk U& THfe, $T MBR g, SEl n
is size of the sample and k be an integer constant, WG BT STHR & Tl kUP E[Uﬁfﬁ Reris B,
then under systematic sampling the probability” g9 HAifed wiEay, R & siavla v afagy
of selecting a sample is - B T @ gTREar & —
n 1 =
| (1.) . 2 N (1) % P} __(1:_[:
3L (Y (3) L« @1
Nm k NP k
(5) Question not attempted (5) TG ge
83. The full form of CSO is - 83. CSO &7 fawaiRa aef & —
(1) Central Sample Organisation (1) B wieel wred
(2) Central Statistical Organisation (2 = ik |ieT
(3) Central Statistical Office (3) =1 it Fratag
(4) Central Sampling Office @) 8 fres a,—qu'fa'q
(5) Question-not attempted (8) araiRa T
84.. Which of the nop-parametric test is used for ~84 frfaRad § § Far RAREED e
testing the randomness of-a given sample? ?’ﬂﬂﬁﬂ?} g_‘? uferest 1 Argfewar o1 W
(1) Run 'test 2 Wﬂcoxon test () o TR (2) Rt T
(3) Median test 4) Sign test (3) TR TEET R
(5) Question not attempted (5) aﬁﬁﬁﬂ Rt '
85. n the agricultural field experiments, the fertility ~ 85- U& Py Wies TAWT ¥, Savar fd=arT W B
variation is obtained through the technique of - P TEHAE T — ,
(1) Method of moments .('2)‘ Replication (1) sTreif @7 fafy (2) gRIgRT
(3) Randomisation {4) Uniformity trials (3) TgREHIE (4) THEE Tl
{5) Question not attempted (5) araRa e
00 - Page 17 of 32
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86. The average wages of a community in the base

87.

year 2011 were T 4000 which became ¥ 7200 in
2015. -If the price index in 2015 was 300, then
the real wage index in 2015 will be -

(1) 60.0 - (2) 75.0

(3) 56.5 % @ 62.5

(5) Question not attempted

IfX,Y and Z are three random variables, then -
(1) Cov(X+Y,Z)=0

(2) Cov(X+Y,Z)=Cov(X,Z,YZ)

(3) Cov (X + Y, Z) = Cov (X, Z) + Cov (Y, 2).
@ Cov (X +Y,Z)=Cov(X,Y,Z)

&) ngstion’not attempied

87.

IR a9 2011 § U WY & A qeigd
4000 <t S 2015 9gFR 720038 7S | AR}
2015 ¥ H1 GEwEi@: 300 B, @ 2015 T FH

RIS FOTG YABID BRI —
(1) 60.0 (2) 75.0
3565  ceqa (4.62.5
(6 eﬂjﬂﬁﬁ LS

AfX X, Y 7o Z3 anghes o *5* T —
(M Cov(X+Y,7Z)=0

2 CovX+Y,2)= ,Cov X,7Z,YZ)

) Cov (X +Y, Z) = Co¥ (X, Z) + Cov (Y, Z)
4 Cov (X +Y,0)=Cov(X,Y,Z)

(5) IrgeiiRd o

88. Let p be the probability that a coin falls head in ~ 88. s & i ¥ Uz Rygd $1 SBON «® ¥ A
a single toss. In order to test a Ho :p=12vs B GG p 8, Ho:p=1/2 ﬁ]”@ Hi:p=3/4
. Hi : p = 3/4 a coin.is tossed5tunes and Hp is & TN 9 RS9 R By 575"% SO
rejected if more than 3 heads are obtained, then TR, Ho Sl 3RAPR g £ afe 399 39 oife
obtain the power of the test - %gmg ﬁwmﬂﬁﬂﬁﬁﬁﬁﬂﬂ’rus
(1) _gi (2) .8_1 (1) 86 * (2) 81 '
128 - 128 e —
(3) 32 4) 72 (3) 83 (@) 79
128 128 — ok
(8) Question not attempted . ) IR W3 '
89 For a fixed effect linear model of one-way 89 v fifaw wig wfed fwer wa@ o
classified data yy=p + i+ &; i=1, 2,.....5 TR0 Toprey fafey grv7 &
j=1,2,....rand g;~ iid N, 6.2), the v(F) Vi= R+ Ti+g; i=1, 2ty j=1, 2
- aiR ei,-~ iid N(0, 06); v(E)) & —
(1) g2 (2) 1.2
tr (1) =2 Ge (2) ﬂ
@ (t— N C ) R
t=Do . @ (- 1) o @
(5) Question not attempted 5
(5) slaﬂﬁa W
90. Which of the following is one dimensional 90. f= & & P R & I &7
diagram? . (1) 39 2) yE-are
(1) Cylinder (2) Pie - Chart
- . _ @) I = @ g1 o .
(3) Bar Diagram (4) Cirtcle Diagram
(5) Question not attempted (6) SrFmRRe s
00 - Pagé 18 of 32
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91.

92.

93.

The appropriate measure whenever the extreme
jtlems are to be disregarded and when the
distribution contains indefinité classes at the end
is - '
(1) Mode
(3) Quartile devi';tion (4} Mean

. (2) Standard deviation

(5) Question not atternpted

Let the r. v. of X have the distribution -
PX=0)=PX=2)=p;
P(X=1)=1-2p, for0<.p < §

for what p, the Var(X) is maximum?

(5) Question not attempted

The salary of a pérson.'in the base year is ¥ 20000
per annum and T 50000 in thé current year. The
CPI is 325, then the allowance required to

maintain the same standard of living is -

91.

92,

93.

GET IT ON
Google Play

e o=\ A9 & SHEISAT P AT B B
AR w9 deq @ I F ¥ oof 8 a

UL ATE BN —

(1) S5 (2) T famrem
@) ugfe Reemr (9 7w

(5) argaRa W

% FIged TR X $T §cH 6 TR & —

PX=0)=PX=2)=p;

P(X=1)=1-2p,0 £ p < >3 for
a‘rpzﬁﬁmﬂﬁzﬁm Var(X) &9 81917

(1) p= Z’ @ p= E
(3)p_§ _,(4)p_§
(5) argeiRa oA

IR a¥ § vw @fdr o wide ey 20000% 2
e o1, 9 § Sue 9iffe e 50000 T B
3 vt Aed qABiE 325 F, @ vE @R
mﬁﬂﬁﬂﬁﬂaﬂwwﬁfﬁmaﬂ?ﬁmﬁﬂﬁ
BT ATITIDHAT BEIIP

3 =~

(1) T 12000 (2) T 12500
_ _ (1) 120003 (2) 12500%

£33 14000 A ‘Gt (3) 14000% (4) 150003
(5) Question not att_cmpte(f - (5?3]@“@(—[ EAg]

94. Efficiency of RBD relative to CRD having 94- CRDS wfm # RBD B FEAT BT STfb QT
exactly the same number of experimental units tr F GRS THEAl tr WeR—aREN &, S9iP ¢

.@ .
is, where t is no. of treatments and r no. of SUERE B TS 9O 1 gRIgRT &) HE & —
replications - ) © (1) Ht=1)MSB+t MSE
(1) r(t—1)MSB+t MSE ’ (tr-1)MSE
. (r-LMSE (2) (-—1)MSB+r(t-1)MSE
(2) (~1)MSB+r(t-1)MSE (tr—1)MSE
{tr—1)MSE .
: (3) (t—1)MSB+r(t-1)MSE
(3) (t—=1)MSB+xr(t—1)MSE (tr—1)MSB
(er-1)MSB t-1)(r-1)MSB+r MSE
(4) (t—1)(r~1)MSB+r MSE (@) =Dl 13[513 i .
MSE bl
(5) Question not attempted % (5) srgeiRer
b J (=)
00 - Page 19 of 32
te 4 : vr ) Yo ¢ bl }‘



https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda

247

GET IT ON
Google Play

T "
|
/o
/
95. 10 is the mean of 7 observations and 5 is the 95+ 7 Jevif BT ARG 10F T 3 Ve T AXA 581, /
mean of 3 observations. The mean of combined '\H‘l‘ﬂ%ﬂF Yeroif FT-TRT BT —
set is given by - ) 15 @ 85
(1) 15 (2 8.5 . R
(5) Question not attempted (6) arIRa weA
96. Who gave the method of moments in Estimation ~ 96- giser Rygiar # amgef Ry fwery & of?
Theory? ot focfT @) e
(1) Karl Pearson (2) Galton
, . (3) fimr (@) ==F
(3) Fisher (3) Neyman
(5) Question not attempted (8) argaife wed
J ’ .
97. Using principle of least squares, which curves 97 <@ o Rigiq Wi, e R Ll ‘
will be fitted for the given cases? FIET T T T ST
i) A (Logy) = constant ' l
W A Losy ) A(Logy) =3
(1) A yr tends to decrease by a constant
percentage (i) A yr T SR wlderd | T 31 ygiy js‘
(1) Gompertz curve, modified exponential curve (1) vy o, AR wReRd 9%
(2) Logistic curve, exponential trend curve 2 wifoRes T, TRURKY STy T
(3) Exponential trend curve, modified @) 5 R o, Wi TREE 9 y
exponential curve : 1
(4) Exponential trend curve, parabola (8) =RETR ST 955, SR
(5) Question not attempted (5) srgaia T
98. What is the share of Rajasthan in total livestock 98- Jg[diei TOFT - 2012 & SIER ARG & E|
of the country as per the Livestock Census — TR F TRl BT Rwar faer 27
2012? )
. (1) 15.27% (2) 10.27%. .
(1) 15.27% (2) 10.27% o | |
- . 4
) 11:96% @ 20.27% (3) 11.26% ) 2027% :
(5) Question not attempted (5) SrgaRa e ‘
99: Mode and Skewness of x’distribution withn df. 99 x2§e< &1 9gae IR AT n @ PR «
:
is - _ @ e E —
n : n "k '
Mn-2), 2 @@-1D, J; % (1) (n=2), ‘E @m-1), ‘E
—_2 |2 - 2 2 2
@ @-2), 2 @G-, 2 @a-2f  @a-n.f
{5} Question not attempted (5) srgaRa wes
00 - Page 20 of 32
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100. If data is of qualitative in nature, then only \;rhich
coefficient can be calculated?
(1) Spearman Correlation Coefﬁq-ient
(2) Karl Pearson Correlation Coefficient
(3) Partial Correlation Coefficient
(4) Circular Correlation Coefficient
(5) Question not attempted

101. The annual frend with 1981 as origin for X units
production per year and annual demand
Y is - :

Y=1488+72X

The quarterly trend equation will be -
(1M Y=372+02X
B Y=124+015X @ Y=372+015X
(5) Question not attempted

102. Gjven ‘the sum of the products of prices and
.quantities for the current year 1 and base year 0
for five items as -

2 Podo = 782, X poq: = 1008,

2 P19c = 1084, X p;q; = 1329
On the basis of these data the value of Fisher’s

Price Index will be - ~
(1) 130.60 (2) 138.70
1 (3) 135.19 4) 132.45

(5) Question not attempted

103. {fTI and T> are two unbiased estimators of 0 and
V(T1) and V(T2) are their variances, then T is

said to be more efficient than T2, when -

"R
(2)Y=15.4+1.8X%

GET IT ON
Google Play

100. 3fy syt B UHRT TUMTAS B, O DA DT
[0l B IO P AT HP 87
(1) WRRAT wEde e
(2) Tret e gede Joie
(3) ikrs HeHey ol
(4) T A4« Ul
(5) =ik ueA

101. 1981 I Bv% AW §¢ WAy X SHIE & i
T4 Y %15 dlaay # & fog aiffe SwEfr
TG B —

Y=1488+72X

T oY FRie SuRRy wiiERer g —
MY=372+02X @Y=154+18X
@ Y=124+015X (9 Y=372+015X
(5) srgeia wee |

102: gy 9 0 o e 9 1 forg 5 axgeit @
W§w$wfmmﬁwm%ﬁm
Trq'l' .

2 Poo-= 782, Y. peqs = 1008,

2 P1qo =1084, ¥ p,q; = 1329

T WP $ AIER W R o I e
BT 9 BRIT —

(1) 130.60 (2) 138.70
(3) 135.19 (4) 132.45
(5) sgeIRa we

103. gf TiTE. T2, 0% T =T APasd & ao
V(T 3R V(T2) S99 ToRoT & o Ti, T 9§
% g&7 BN, o9 —

. 1 - = 2
0 1 VT =0 @V >V M L V(I =0 @ V(T)>V(T)
() V(T) < V(Ty) 9 IR H | PIg A

(3) V(T,) < V(T,) (4) None of the above s .
(5) Question not attempted ) sraRa e

104. The test statistic for testing the significance of 194- AryRvUET: Wb el & AT p =0 I TEfH
p = 0 with usual notations is - ® T &g udenT e & -
M, _ @D @, _ £a-s) oD @ )

T Ta-)! T -2 _r . _
@, _ a2 @ _ oo @i @ e
t = I‘r—(ll'l_ rz) t = r (:;...,;) t ’(1— 1"2) t N /(n_'z)
(5) Question not attempted (5) srgiRe we '
- 00-[E.
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105. The Agricultural Census in India is done in

every -
(1) 5 years (2) 10 years
(3) 2 years (4) 1 year

{5) Question not attempted

106. The solution to a transportation problem with m-

rows (supplies) and n-columns (destination) is

feasible, if the number of positive allocations.

18 -
(1) mn (2) m+n+1
(3) m+n 4) m+n-1

(5} Question not attempted

3 9 2
107. The rank of matrix A=]1 5 6] is -
12 7 4
M1 (23
32 40

(5) Question not attempted

108. 1t P,(x) is Legendre’s polynomial, then the value
of P2q(0) is given by -

{1) /_qyn135..(2n-1)
D 2.4.6...(2n)

(2) 13.5...(2n~1)
2.4.6..{2n)

(3) /_4yn 135...(2n+1)
1) 2.4.6..(2n)

(4) 135...(2n+1)
2.4.6...(2n)

(5) Question not attempted
109. The solution of the differential equation
y=4xp — 16y*p?, (p = %) is -
(1) y?=Cx-C? (2) y =Cx-C?
@ y*=Cx-C? (4) y*=Cx-C?

(8) Question not attempted

105. T ¥ B SFEOFT B oIl & TAE —

(159§ F (2 109¥ ¥
(3) 29 ¥ @) 1% ¥
R U5) STTEIRE e

E »,

—tﬂﬁﬁ!ﬁ (amgfel) @RI n—wal (o) @ |
URdE TR &7 & GO 8, IR GBS

3TdcA] BT G & =
(1) mn (2) m+n+1

(3) m+n (4) m+4n-1

(5) IrgaIlRa e

3 9 2
107.311qu=[1 5 G]H%Eh*rﬁc’%—
2 7 4
@3
@0

(11

(32

(5) argaia 9%
108. 9 Py(x) ISR 98U &, I Pau(0) BT AF

N .

(1) ;_4yn L35..(2n~1)
=1 24.6..(2n)

(2) 1.3.5...(2n-1)
2.4.6...(2n)

(3) ,_q+n 135...(2n+1)
( 1) 2.4.6..(2n)

(4) 1.35...(2n+1)
2.4.6..(2n)

() sraRa wew

FHe FHIGRT y = 4xp — 16y°p?, (p = %) Cal

109.

g & —
(1) y*=Cx-C?
(3) y?=Cx-C?

(5) srgeia U

() y=Cx~C?
@) y*=Cx -2

00 - =]
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110. Which one of the following statement is correct?  110.
/

(1) Every scalar matrix is an identity matrix.
(2) Every diagonal matrix is a scalar matrix.
(3) Matrix

commutative.

multiplication is always
(4) Every scalar matrix is a diagonal matrix.

(5) Question not attempted

e

111.The parti¢ular integral of differential equation | 11,
d?x g.
'F'i'ﬁ(x'_ a)=0, where a, b and g are -

different positive constants is - g

(1) 4 (2) B2 g i
o P

30 (4 b :

. g
(5) Question not attempted
2. The series ’Z,‘f":oﬁ% , (x> 0) is divergent, if - 'y
Mx>1 (@) x=1
B x<1 @x<1

{5) Question not attempted

113. .
18 -

The inverse Laplace transform of —
s“+4s+13

(1) g-2t ¢og3t — ge"” sin3t
(2) o-2t ¢os3t —é e~2t sin3t
(3) e=2tcos3t + -ge"Zt sin3t
() o-2tcgs3t + -;-e"Zt sin3t

(5) Question not attempted -

- The equation x* + 5x — x2 + 7x + 9 =-0 has
roots -
(1) at most two positive roots
(2) at most thrée positive roots
(3) at most three negative roots

(4) at most one negative root *

(8) .Question not attempted

,amav—efﬁm

113.

GET IT ON
Google Play

fereferid o 9 B BoUd WE) 87

(1) TS AT MR, TF qoHHR AIE BT
2|

(2) yle eyl aTTegE, U AT ATegE BT € |

(3) STTgE U GR9 AT BT

@)yl Al aregg, U faeol SegE gian &

(8) sraiRe W

dzx AT

g S
dt2+E(X_a)_0' GE]
a,bd g A= gme R € @1 At
TGS & —

Ma (2 £ ‘
3 0 @2
ﬁ g
®) RS
SR ¥ =0;§%, (x > 0) IR &, afy —
(ﬂx>% . @x=1
(3) x <l @x<1
(5) argeiive wed
e 1 o AT wataReT ¥ —

(1) g=2t 043t — %e"z“ sin3t
(2) g-2t cos3t — %e’Zt sin3t
(3) e~2teos3t + ge“"t sin3t

@) e-2teos3t + %e‘“ sin3t

(5} argeiRe g

14 TR0 x4 +5x° - x2+ 7x +9 =0 Ho B4 —

(1) SRy, Y ST T
(2) arferpere <1 e g

"(3) SifrepaH I ROTHS Hel

(4) IRPpaH Th FUTHD el
(5) Srgaie /e
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M5.9f o, B, y are the roots of the, equation
8x3 — 4x%+6x — 1 = 0, then equation having roots
a+§ﬁ+§y+%ﬁ—

(1) 4y® + 8y? — 8y ~3=0
(2) 4y - 8y* +8y +3=0
(3) 4y + 8y*— 8y +3=0
(4) 4y* -8y’ +8y-3=0
(5) Question not attempted )
116. The table below gives values of a function f(x)

obtained for values. of x at intervals of 0.25, the
value of the integral of the function f(x) between

the limits 0 to 1 using Simpson’s (3) rule is -

x | 0] 025 | 050 075 ] 1.0
f(x) | 1 | 09412 | 0.8 | 0.64 | 0.50
(1) 2.3562 (2) 7.5000
(3) 0.7854 (4) 3.1416

{5) Question not attempted

117. The height of the cylinder of maximum volume
that can be inscribed in a sphere of radius ‘a’ is -

(1) JE (2) 22
;a . 3

ol ol
(3) ¥2a 4 22
D V3
(5) Question not attempted
8 The value of f is -
e () G

VT ‘”TTET“
3)\/E
2

-h

@ ivm
@ 2

A]wl-hl:—-I

o

{5) Question not attempted
Me.5fy = x is one of the solution of differential

equation x? + x —y = 0, then the second
linearly 1ndependent solution of the above
equation is -
(1)L (21

x2 X
3) x" (n e N) (4) x2

(5) Question not attempted

115. 3% wfieRor 8x° — 4x%+ 6x — 1 =0 B T
o By & Aats B+l y+; O aRN
wHBeT & —

(1) 4y + 8y> -8y -3 =0
@ 4y> - 8y* +8y+3=0

(3) 4y° + 8y*— 8y +3=0
(@) 4y> —8y2 +8y-3=0
(5) SraRd ueA

116-:ﬁ%f€rns‘wﬁozsa%mu¥x$w
% forg ura wom f(x) & A < 8, R

(%)'ﬁaﬁmmﬂwﬁgqﬁmﬂﬁliﬁﬁa
P f(x) P GHIBAT BT A & —

1 x 10 0.25 0.50 | 0.75 1.0
fx) 1| 09412 0.8 0.64 | 0.50
(1) 2.3562 {2) 7.5000

(3) 0.7854 {4 3.1416

(5) o iRd weA’

117. BT ‘2’ & U el § Srdfaee ey
P g B SAE & —

(1) ‘F 2) 22
3

AY

(3) v2a 4) 22
1 e
(5) argaiiRe uz=
118. J-Ol‘\/ldx_x4 &7 T % _ 1
V= () Jnli
r g % ) 4 ‘:T
1 T
(3)%% @ %«/5—[[;{:—
I E 4
(8) siRa ueA

119. 2 :
“afy y = x, s T x2 L4 xS
y=0 B TF &6 &), 9 SRS TSR B
TR YRapd: Wad §ol & —

(1L (21
x2 X
B)x"meN) (4) x2

(5) 3R UE

00- &
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1 -1 1 4 2 2
120. IfA = [2 1 —3], 10B =[—5 0 (x] and B

1 1 i t1 -2 3

is the inverse of matrix A, then the value of o

is -

(1.2 @5

(3) -2 @)1

(8} Question not attempted

121. Envelope of the curve y = mx + %, where mis a
parameter is -
(1) y2=4ax @ x’=y
B x=y (4) X’ = day

(8) Question.not attempted

The general solutlon of the parual differential

equatlon (y x — 2x%) P+ @y -x%) q-=
9z (x> — y¥) is - ‘

M ¢ (xz y,iz'xsysz) — 0\
@ ¢ (xz + ;’i x3y3z3) =0
. (3) f(xz yz“XSY ) 0

/ @ ¢ (xz ;'E:XBY z )= 0

(5) Question not attempted

One of the solution of differentlal equation
x+ypt=(1 + Xy) p, where p = =X 1s-
My>—x—c=0
G y2-x2+c=0 (4)y-—x2+c=0
(5} Question not attempted

122.

123.

(:z)y_EX -

124. Solution of the following assignment problem

is—

A B C
Ifo 26 15
Hji3 27 6

mj3s 20 15
vjis 30 20

(YA SIV,B>LC—IIO
@DASIV,BSILC-I
BASLBSILC—II
@WDA-SLBoSII,C—II
(5) Question not attempted

125. . 1,1 p1-x .
'Value of the integral |, fyz J, xdzdxdyis-
(1) 4 @) 2
35 7
(3 L @ =

35 35
(5) Question not attempted

120.

121.

GET IT ON
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-1 1 4 2 2 '

gk A=|2 1 —3],1013:[—5 0 a]‘&r‘m
1 1 1 1 -2 3
B, A &T TShY JTegE B, O o BT AN & —

(1) 2 @5
(3) -2 @1
(5) SrfeIRe o

TF y= mx+— agrmwmaa% CIRSCEL
g - .
(1) y*=4dax

@ x2=y
" Brx=y (4) x%=day
(5) 3rgRIRe e

122.

123.

124.

WASLBOSIMCoII

125.

RSB Iaqha FHPRT (v - 2%%) p +
2y*-x%y) q =9z (x> - y*) &1 &P BT & —

M ¢ (xz %,x3y32)'= 0
@) ¢ (xi’- +3_j<z’x3y323) =0

(3) ¢ (x—z + %,x3y3z) =0
(4 ¢ (xz iz,x3y3z3) 0

FIBE FHIGRT x + yp? = (1 + xy) p, Ofal
p= ¥ & uF 5 & - ‘
My2—x-c=0 (2)y—%x2—c=0‘

@) y?—x2+c=0 @y-—x2+c=0

(8) SrFalRa weT
== R veene g -

A B C
If9 26 15
I3 27 6
m{3s 20 15
Iv[iis 30 20

MASIV,BSLC—II
@DASIVBSILCo I
B ASILBoSI,CoHI

(5) ergaRa ae
P [ [ J) " xdz dx dy BT A &
) I (2 1
35 7
) . 4y 2,
35 " 35
(5) 3rgaIRT W

00 - =
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126. The Fourier sine transform of €, a > 0 is ~ 126. g-ax 3 > 0 BT HRAX WigT HAGRYT g -
mE 2 @G o WG e @ [ s
T s2+a® T 52+a? n sZ+a? T s2+a?
® [ @RF . ®F o @G s
T s?+a? T s2+a? . T sZ+a? VAT s2+a?
(8) Question not attempted (5) argafa we ‘
127. I terms of Legendre polynomials Po, Py and P,  127-isi<g 980G Po, P T P P w9 H k2 +x
x? + X is equal to - REE E —
) §P0 + P+ ng (2) Po+P1 +2P2 (1) gpo +P, +%p2 (2) Po+ P14+ 2P,
(3)%1)0 +§Pz (4)§P0+P1 +§P2 (3)%P0l+§P2 , (4)§P0+P1 +%P2
(5) Question not attempted (5) SFpIRT W=
128. The value of cosx in terms of Bessel’s function 1287 UHR & I8 Held D T ¥ cosx BT HF
of first kind is - ; 2 — _ -
(M Jox) = I2(x) + Ja(x) —...c.e (1) Jo(x) = Jo(x) + Ta(X) = wouree. ’
@) To(x) + 202(X) + 21a(X) + coene T (@) Jo(x) + 202(%) + 2T4(X) + oo
(8) Jo(x) + J2(x) + Ja(x) + covee. (3) Jo(x) + J2(X) + J4(X) + oo
@ Jo(x) — 2T2(X) + 2J4(X) ~ . (4) To(x) — 202(%) + 204(X) = ereees
(5) Question not attempted N (5) srgaiRa W=

129. The Laplace transform of Bessel function Jo(t)  129- S¥eT et Jo(t) &1 T TRV g -

~ -

is - W _2 @ = ”
(1 _t 2) = V7 R
Ny ey o ] (4) S
1+—= !1— ;
31+ s:+1 41— s:+1 Vs2i1 V211 ,
(5) Question not atternpted (5) srgaiRa we
130.f y = x is one of the solution of differential 130-y o _ o yma wiET &2+ 1) %'_
. 2 dy ,_dy _ .
equation (x*+1)75—2x-+2y =0, then 9% % +oy= 0 P T Ea S, T g e
another linearly independent solution is - . W, 8 ¥ — =
My=21x @ y=x"-1 () y =1y @y=x*-1
2 2
@) y=mx @ y=2x (3) y =TX (@) y=2x
(5) Question not attempted (8) srgalRa v
00 - Page 26 of 32 _ .
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131. Which of the following statement is not correct?

(1) The closed half spaces Hi = {x| cx > z} and
Hz = {x | cx < z} are convex sets.

(2) Intersection of two convex sets is also a
convex set.

() Let A = {x1-x21x1 € S, X2 € T}, where S'and
T are two non-empty disjoint convex 'sets,
then A is a convex set.

(4) If S and T are any two convex sets in R®, then

for all scalars & and B, the set oS + BT is not :ﬂ B

convex.

(8) Question not attempted

132. One independent solution of partial differential

equation
yzp +zxq = xy,(wherep——, q—az)ls-
M x*+y*=c @ x2-y2=¢
B x+y=c @ x-y=c
(5) Question not aitempted
133.

fu= sm‘l(‘/_ ‘/_) then x -i-ya
(1) E tanu (2) .2_ cotu

5 5
@ 3anu @ gcotu

2

(5) Question not attempted

134..The hypergeometric function 2F1 (¢, f; P ;%)

is equal to -
(1) (1 -x)° @ 1 +x=
@) (1 +xy @ (1 -xy

(5) Question not attempted

GET IT ON
Google Play

131. o7 3 & P wom we) 781 ¥?

(M Hgw anf wafed! H) = {xl cx > z} sk
Hz = {x | cx < z} 3/99@ W= B §)

(2) <1 Iy wEEEEl B GES W e
oo B 2

@) AT A= {x1-x21%1 €S, x2€ T}, &&t 8 &R
T3 SRew srga 399w wq=d & o A
UF I TN Bl &

@A R A S &R T & oo weay &, o)
i s 3R B o), WS + BT
ST T B "

(5) SrIRT wee

132. 31if¥p sra@@ TP yzp + 2xq = xy BT T

@Wad B & — (Gﬁp=~z—ﬁ'<’ﬂ.q(=%)

N 2+y’=c () x2—y2=¢

G x+y=c @x-y=c

(5) erie o=
133'Hﬁu—sm‘1(‘/_+y3) ar x au Y%F

M %tanu @ gcot u

@z ~tanu @ g—cotu

(5) argmia ue

134. gremReaid BT oFy (o, B B ; x) SO
3

(1) (1 -x)® (@ (1 +x)®
@) +x) @ (1 —xye .
(5) SraRe ue
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135. Solution of the differential equation
@Y oo N 1w = 0
X33 (2x l)dx-i-(x 1y = 0'is -
(1) y=logex (C1€" + C2)
(2) y=¢*(C1logex + C2)
3) y =logex (C1e™ + C2)
(4} y = e™ (C1logex + C2)
{5) Question not attempted
136. Lagrange’s interpolation formula can be used -

“(1) only for equal interval
(2) only for unequal interval
(3) for both equal and unequal intervals
(4) None of these
(5) Question not attempted

137. The value of £(1.22) from the following table
using Stirling’s Interpolation formula is -

x-:] 10 | 1a | 12 [ 13 | 14
f(x) : | 0.841 | 0.891 | 0.932 | 0.963 | 0.985
(1) 0.9389 (2) 0.9492
(3) 0.9481 4) 0.9380

(5) Question not attempted

-

138. The radius of curvature of y? = 2x (3-x%) at the
points where the tangénts are parallel to x-axis
is- ’
m1

(21
2 4
@1

@1
5 3
(5) Question not attempted

138. Jf J,(x) denotes the Bessel’s function of first kind
of order n in arguient x, then J§(x) is equal to,
where Jo(x) is the first derivative of Jo(x)

Wt X -
M) Ja(x) @ J(x)
@) - Jo(x) (@) Ji(x)

(5) Question not attempted

140. If [x] denotes the greatest integer less than or
equaltoxand -1<a<0,0<b<1,1<c<2,

135. Saemel FHIBROT
x%—_&x—n%ar (x— 1y = 0 & 5 &
(1) y =logex (Ci1€* + C2),
{2) y =e*(C1logex + C2)
() y =logex (C1e™ + C2)
@) y =™ (C1logex +C2)

(5) SgaRT W
136. girie sigde g FmifRaa & fore wgad &t

a8 —
(1) D FAF <RI D g

(2) Bl AN IR & g
(3) gar AR A BFT sl @ g
@) g7 9 B TE
(5) srgaie W
137. TR Srade I BT SUGRT &Ra A 8 T8
areel ¥ £(1.22) BT AN & —
+ 1 10 ] 11 | 12 | 13 | 14
fx) : 0.841 | 0.891 | ©.932.{ 0.963 | 0985
(1) 0.9389 (2) 0.9492
(3) 0.9481 {4) 0.9380
(5) IR WA

138. FligRor y2 = 2x (3-x2) B F5pa B 99 {875
W, oTEi el Y x—3 B AAERR § —

(1)1 @1
2 4
@ @1
5 3
(5) 3<iRa uEA

139. Jf Jy(x), TR x ¥ n UG BT 929 YR 67 I
e &, W Jo(x) BT 9F 8 WE [5(%), Jo(x)
BT -x P TG UH IfPHere & —

(1) I(x) @ 1,x)
3) - hx) 4) J1(%)
(5) srgaRel wed

140. I3 [x], x ¥ &4 I I, HEH QI HT 2R
Fl B AR -12a<0;0<b<1,1<c<?2 &

El+1 [ [ al+1 b [d
then] [a] [b]+1 [c] |isequalto- | [a] [bl+1 [ |PweE-
[a] b] Icf+1 [a] b}  [c]+1
M1l (@ [b] ﬁ () [c] (@) [b]
@ o 4 [a] afikd (3)0 (4) [a]
(5) ‘Question not attempted (8) FrgiRe we l;
00 -
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141. Which of the following is not a convex set?
(1) {(x,y)13x%42y* <6}
@ ((x,y)1y<x?}
GB) {((x, y) 1 2+y? <4}
@ {(x,y)12x+5y <7}
(5) Question not attempted

142. Which type of problems can ‘be solved by using

Simplex Method?

(1) Only assignment problems %
(2) Only transportation problems ke

(3) Linear programming problems

{4) Both assignment and transportation problems
{5) Question not attempted

143. The Fourier transform of the function

1 +§ ; —a<x<0
X ; .

f(X)= 1—; ; 0<X<a j.S-
0 ;  otherwise

M sin2 (2 (2) 22 cosz(?)

2y/7Z as? ( ) _TEZ?F

(3) 2vZsin?(% 4 vz . as
ﬁaSZZ) Tt as? Sm(z)‘

(8) Question not attempted
144.7f two roots of the equation 4x3 + 20x? — 23x +
6 = 0 are equal, then roots of the equation are —
M2, 6,6

(3) 1 ,6,6
(5) Questlon not attempted

145. The particular integral of the differential
equation (D? — 1)y = e** + 3 cos (4x + 3), where

= — 1S -

dx
() _lg2x ¢ 3
;e +—cos (4x +3)

@ ‘—gezx -2 ~cos (4x + 3)

141,

142.

143

144,

145.

GET IT ON
Google Play

ﬁﬂ%{%ﬁﬁﬁaﬁww'ﬂgﬁmﬂﬁ%?
(M {(x, y) 1 3x%4+2y? <6}

@ {(x,y) ly<x?}

@) {x, ») I x*+y2 < 4}

@ {(x,y) | 2x+5y <7}

(5) saRT T

Rrgeea Y & w9 b9 gor a%
TSN BT B (AT qpaT 87

(1) Faa1 FETT g9l

@) P91 uRasw weemg

(3) IRg T T

(4) Fraa= Jen uRaes g <Y

(5) sraRa ueA
1+-§ ;
1—§ H
L

—a<x<0

D<x<a
3T

B f(x) = Ea

HRIT TR & —

(1)

(@) 2vz cosz(%)
Vi as?
(4) 2 sin as)

21/51 as? sin (azs)

(3) zvz sinz(?)
Vmas?

(5) argailRa usd

IS FTHDIT 4x3+ 20x% — 23x + 6 = oa% RG]

HAME B, O P & g7 § —

Jmas? 2

(1) 1 , -6, -6 @l -
L 227
(3) 1 ,6,6 @1l
2’2’
&) arfrﬁa e
TP FHDHNT (D? ~ 1)y =e* + 3 cos(4x + 3),

et D =< o e wwwe @~

() —-%ezx + ,—3-cos (4x +3)

& —sez" - -—cos (4x+ 3)

(3) 2g2x — --cos (4x+3)

3 ; 2 — cos (4x+3) 3®
@i
(4)§e2x +1—7.cos (4% + 3) @2 e X+ ~cos (4x + 3)
(5) Question not attempted ) (’ﬂﬂﬁﬁﬁ LAl
00 - = Page 29,6 32 3
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146.

147.

148.

149.

150,
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0 -h - '
IHFA=|h O —%], then correct statement is -
g f 0

(1) A is an invertible matrix

{2) A is an orthogonal matrix

3 1Al =

(4) Rank (A) =3

(5) Question not attempted

The system of linear equations X + y + z = 2,
2x + y—z =3 and 3x +2y + kz = 4 has a unique
solution, if -

Mk=0 @k=0

() -2<k<2 @ -1<k<1

(5) Question not attem;’)ted

The asymptotes of the curve x2y? — x’y — xy>+

X+y+1=0are-

(M x=0,x=1,y=0andy=1

(2 x=0,y=0andx+y+1=0

@ x=1,y=landx+y+1=0

@ x+y=0andx-y=0

(5) Question not attempted

If £(2) = 4, £(2.5) = 5.5, then which one is the
linear interpolating polynomial using Newton’s
Divided Difference Interpolation formula?

(1) 3x-2 (2) 3x

(3) 3x-3 (4) 3x-1

(5) Question not attempted

2
If $(x) = F(0) +XF (0) + % £(6x) and

f(x)=(1-x)*?,thenthevalueof O asx — 1is-
(ms ()
CH Ch

(5 Questlon not attempted

0 ~h -
146-IrﬁtA=[h 0 —q,Fﬁ'ﬂ'ﬁW%—
g f 0 '
(1) A UF Foravid g © 1
(2) A uw T IME B
(3) 1AI=0
T @AR PR3
(5) srgalRa weA

187 g wfEwol x +y +2=2,2x+y-z=38R

148.'(';[;5 Xzyz __ xzy

3x+2y+kz=4 & o™ o1 7@ ™ g
'q@‘_

Mk#0 @ k=0
'3) 2<k<? @-1<k<1
(8) e uw=

—xy2'+x+j+J1;OT=ﬁl
(1)x¥0,x=1,y=-03ﬁ?y=1

@ x=0,y=08Rx+y+1=0"

@ x=1,y=13Rx+y+1=0
@x+y=03R x-y=0

" (8) IriRe U

149. 9f% £(2) =4, f(2.5)=5.5, ﬁwmw

IO G B TR W P R Saasi

45US W BT

(1) 3x-2 {2) 3x
(3) 3x-3 4 3x-1
~ (8) srgailRa

150, I f(x)= f(0)+xf(0)+—f(ex) 3R

f(x) =(1-x)*, ¥ x—>1n-geaa~r=m g -

(s 2 2 .
9 25
32 ' (4 2
25 9
(8) sFalRa U=

00 - =]
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